
X-MATHEMATICS

Section A (40 marks)

Compulsory
Question-1

(a) 
A refrigerator is available for Rs. 13,440 inclusive of sales tax. If the original cost Rs. 12,000 find the rate of sales tax.





     (2)


(b)
The difference between C.I. and S.I. on a 5 X m of money)
deposited for 2 years at 5% per annum was Rs 12. Find the sum of money.



      (3)


Question-2

(a)
Find the values of c if x+2 is a factor of x3+ 4 cx2 + (c+1)2 x-6

(b)
A truck covers a distance of 550 min one minute whereas a bus covers a distance of  33 Kms in 3/4 hours calculate the ratio of their speeds.


       (2)

Question-3
(a)
Without using trigonometrical tables evaluate cot 40°/ tan 50° -1/2  cos 35°/ sin 55° 
(2)

(b)
In a 
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ABC, 
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B=90° , and D is the midpoint of BC. Prove that AC2 = AD2 + 3 CD2
(2)

Question-4

(a)
 Solve (x+2)/ (2x+7) 
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1/3; x
[image: image4.wmf]Î

R and draw the graph of the solution set.

(b)
ABC is a triangle right angled at A. 


AM is perpendicular to BC,  AC=8 cm, Bc=10cm Find (i) AB (ii) BM X CM.

Question-5
(a) 
The line regment joing A (2,3) B (6,-5) is intersected by the X-axis at appoint K. write down the ordinate of the point K. Hence find the ratio in which k divides.

(b)
A point P( a,b) is reflected in the x-axis to P’ (-2,+3). Write down the value of a and b. P” is the image of P, when reflected in Y-axis. Write down the coordinates of P”. Find the Co-ordinates of P”’ when P is reflected in the line, parallel to Y-axis such that X=4

Question-6
(a)
In the figure, AB= 9cm, AX=4cm, CX=2.5cm; find CD.

(b)
Construct a 
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ABC, in which AB=9cm, BC=10cm and 
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ABC=45º Draw a circle with centre A and radius 2.5cm Letit meet AB at D construct a circle to tonch the circle with a centre A externally at D and also to touch the line BC.

Question-7
[image: image7.wmf]
(a)
Find mean, median and mode of the following numbers


        4, 2,1, 3, 2,1,5, 6, 2, 3,6, 2, 3, 6, 2, 2, 3, 3

(b)
Evaluate x, y if 
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(3)

( c)
Polygon is drown with one vertex at the point (5, -3). What must be the co-ordinate of another vertex if the polygon has; (i) Point symmetry about the origin (ii) Line symmetry about the x-axis (iii) Line symmetry about the Y-axis (iv) Line symmetry about the sine x=1 (v) Line symmetry about the sine x+1=0
(3)

Section B (40 marks)
Answer any four question

(a) prove that 
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(b)
In the given figure


find the value of x and y.


  3x+2y=13


   x+2y=*7

Question-9
(a)
construct a triangle PQR  in shich PQ=bcm, QR= 4 cm and RP= 5 cm. Draw three circles with P, Q and R as centres, touching one another externally.

(b)`
A hollow sphere of internal and external diameters 4 cm and 8 cm respectively is metted into a cone of base diameter 8 cm. Find the heighat of the cone

Question-10

(a)
By purchasing Rs 25 shares for Rs 40 eaxh, a man gets 4% profit on his in vestment. What rate percent is the company paying?  What is his divided if he buys 60 shares ?

(b)
If X (1,4), Y (2,-3) and Z (-1, -2) are the vertices fo 
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XYZ. Find


(i)      the equation of the median through x.


(ii)     the equation of the attitude through x.


(iii)    the equation fo the right bisector of the side YZ.

Question-11
(a) 
If R= { ( x,y) : 
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 is divisibleby 2 & x, y
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n } show that R is an equivalence relation, x, y being real numbers 


(b)
A function f is defined by 


f= { (x,y) : x,y
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N, y= 5x- 3 and x
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b }

(i) List the set of ordered pair of f.


(ii) Write down the range of .

(iii) State, with reason, whether f is one-one or many-one.

(iv) State, wit reason, whether f is into or onto 

(c )
A copper wire whe bent in the form of a square encloses an area fo 121 cm. If  the same wire is bent into the form of a circle, find the area of the circle.

Question-12
(a )
A man on the top of vertical tower observes that a car is moving directly at an uniform speed towards it. If it takes 12 minutes for the angle of depression to change from 30o to 45o , how soon will the car reach the base of the tower?

(b)
Mr. Arun Modi has an annual in cone of Rs. 2,74,500. He deposits (i) Rs 25000 to his P.P.F account in S.B.I (ii) pays an annual premium of  Rs 70,000 towards his L.I.C. policies, (iii) has N.S.C for is 50,000 calculate te income tax t be paid by Mr. Arun Modi.

Question-13
(a)
 The product of the digits of  a two digit number is 2  4. if its unit’s digit exceeds twice its ten’s digit by 2; find the number.

(b)
Calculate cumulate frequency and draw, cumulative frequency curve of the given data :

	Weight in gm
	50-60
	60-70
	70-80
	80-90
	90-100
	100-110
	110-120
	120-130

	No of potatoes
	8
	10
	12
	16
	18
	14
	12
	10


Question-14

(a)
The points (-3, 4) and (2, -b) are the co-ordinated of the apposite vertices of a rhombus. Find the equation of the diagonal through the other two opposite vertices.



(b)
The saving bank pass book of mrs Lily chanda shows the following entries:


	Date
	Particulars
	Cheque

    No.
	Amount deposited

Rs            P
	Amount deposited

Rs          P
	Balance

Rs        P

	Jan 8
	By cash
	
	
	750.00
	750.00

	Jan 13
	By cheque
	
	
	1200.00
	1,950.00

	Jan 28
	To self
	98417
	350.00
	
	1, 600.00

	Mar 6
	By cash
	
	
	500.00
	2, 100.00

	Mar 25
	To self
	98418
	900.00
	
	1, 200.00


              What interest does she get on 1 April, if the rate of interest is 3.5% per annum?
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